s

.+ ESPRESSIONI

* Sottolinea in ogni 1*-:r;lecxxyaﬂoniChevannoeﬁegumepWWna
pOi risolvi.

8+7x4= | | 2RI D=

9x8+63 7= 125:5-18:9=
7X5-5x6= 6+32:2+6=

%f!nsenscialposuaghﬁxoIeFXﬂentesinandeinrnodC)daCNieneréilHsuwato

dato.

1+20x3=61 31-26x2+1=15

3+20x3=63 31T-26x2+1=11

2R2I%5=210 44-35x2=18

39-4x5=19 18:247-2=14

o Risolvile . _

3x3)-(30 :5)+18= (32 :4)-(56 8)+(72:9) =
—Oﬁ4+Q8:DH@xa+1: @1:%+UOO:&~UX@:

" 3-24Q7 19 +(6x7)+5= (40 :8)+(64: 8)~(3x2) + 8=




4 Risolvi le espressionn; Attenzione alle parentesi!

?4+[(30+70)x3]= ) [:(42:6)+(125—~45)]x3:-
;><(78 2-37)= ) (;1x329)4~
£O+10+13x4)2“ ) ‘_" (;816).{[57:(52)171x2}-




